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ΑΣΚΗΣH ΟΝΟΜΑΤΟΛΟΓΙΑΣ ΟΡΓΑΝΙΚΩΝ ΕΝΩΣΕΩΝ 
 

 

Να ονομάσετε τις ακόλουθες ενώσεις: 

      

α. CH3CH2CHCH2CH2OH  :  
            │ 

             CH3  

 

β. CH3CHCH2CHCH2CH3  :  
                │     │ 

 CH3    ΟΗ 

 

γ. CH3CHCH2CΗ=Ο   :   
  │ 

 CH3    

 

δ. CH2CH2CHΟΗ    :   
      │                │ 

    CH3      CH3 

 

ε. CH3C=CHCH3    :  
 │ 

CH3 

 

ζ. ΗC≡CCHCH3    :  
      │    

   CH3 

                              

η. ΗC≡CCH2CH2COOΗ   :   

 

θ.  CH3−CH2−CH=C=CH2  :   

     

ι. CH3 −C− CH−CH3   :   
                  ║     │ 

  Ο   CH3 


